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Simplify using BODMAS rule 11- [2x9-{12+(7-2+1)(13-

 OF

1MH=7?
BODMAS fAaH &T STHRT Feh T e

(b) -
0.9
(c) -4
(d) -3
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1000 QUESTION SERIES

Find the number between 300 and 500 which will be

? exactly divisible by 6, 8,10 and 12.
300 =T 500 = = FT T&T FTT FL ST 6, 8,10 3T 12 ¥ Uia: |

R (1) 490
(2) 340

y@) 360

(4) 320
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1000 QUESTION SERIES

A certain number of persons can complete a piece of work in 55
days. If there were 6 persons more, the work could be finished in
11 days less. How many persons were originally there?

iRal i T MTAT T 55 el § T S QU H aFdT g1 A< 6 |
ixF T gra, Ar A 11 fIAT & q0TH BT ThaT AT G €7 F faraer =af=F |

q?
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Find the height (in meters) of a building, if the Sun's

4 shadow increases by 10 m when the angle of elevation
of the Sun decreases from 60° to 45°.
et o & SaTs (e /) ATT FE, T gF it 78318 60 °
¥ 45 ° T g I gA T FET 10 HeT 98 STt 8

(@) 10(v3 — 1)
(b) 103

) 10v/3/(v3 - 1)
(d)10/(v3 +1)
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If «, B are the roots of the equation/ Ife
o, f AHIFOTF AT g AT 2x2 + 3X -2 =

0, then the value of AT ATT HC “—+:
=7
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In 85 yr, Kim will be 12 times as old as she is right
6 now. What is her current age?

55 a9 &t g #, Fhw ar+fy fora=it 9 # 12 AT AT
I TAATT Y FAT &7 (1) 4 yr

ANAL
(3) 6 yr

W)Wr
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1000 QUESTION SERIES

If/afe secte-sec2e = 3, then/ar
tan4e + tan4e = ?

(1) 1

b

(2) 3

(3) 0
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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

After 12 innings the average score per innings of a batsman was
8 55. After 14 innings his average rose to 60. If the batsman had
scored 20 more runs in the 14th innings than in the previous one.
How many runs did he score in the 13th inning?

12W%m@aﬁmﬁrﬁwﬁmﬁwaﬂweﬁtss qT1 14
qTIRAT F TS SHHT AT TEHL 60 BT AT S ToAGTS « foseAt It
T AT H 14 o 9 7 20 T At a=rw ar 13 o i ¥ 9 fFaw

W TATC?
1 %1)75

(2) 80
(3) 90
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' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

Maithri is aged three times more than her son Vishaijith.
O After 8 yr she would be 2(1/2) times Vishajith's age. After
further 8 yr, how many times would she be of Vishaijith's
age?

=T Iaer 9 fAersiia & i @7 SATRT I Fit g1 8 T & A1
a8 fAsshia i ST F 2 (1/2) T RN MY 8 AT & 1<, 98
Fohaet AT faerstta &t ST &t grft? (a) 3

(b) 4/5

Mg; 121 /5

hitps://t.me/MathbySuryaveersir |




1000 QUESTION SERIES

If X and Y can complete a piece of work in 20 days. Y and Z can complete the §
same work in 12 days, while Z and X could do the same in 15 days. How

many days would be needed to complete the work by X, Y and Z together?

i X T Y 20 fai # fFdt s v rHFcaswa gl Y aﬂtzwa"rmaﬁ 12 fa=i

H QT FIFA 8, Tafp Z AT X 15 ﬁﬂ‘rﬁ@é’rmmmgl X, Y X Z g

T 9T 10 I A & forg fFar it it sraeaawar greit?

hitps://t.me/MathbySuryaveersir |



1000 QUESTION SERIES

The sum of the length of the edges of a cube is equal to three-
fifths of the perimeter of square. If the numerical value of the
volume of the cube is equal to the numerical value of the area of
the square, then the perimeter of the square is-

TS 97 & FhT0 ol TS ant i R % q9-qi9d 35 & Iaa g
TR o & AAAT T GATHF AT I & STHA h GATHT AT F

FIEL g, av a9 & aifer g-
) 500 units

(2) 480 units
(3) 360 units
(4) 300 units
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1000 QUESTION SERIES

The digit in the units place of the number
represented by (79° - 3%8) is:

(795 - 358) is: QIR TLITS, S HEAT i SHISAT & €T |
HF & UL
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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES ':

Two pipes fill a tank when working individually in 5 h and 8 h,
respectively while a third pipe can drain the filled tank in 3.2 h. If
all the three pipes are turned on at the same time when the tank
3 is empty, how long will it take to fill the tank completely?

QT ITST FAL: 5 5 3T 8 °E § TF & WA &, Tafd TH 1< Iy
3.2 ¥ | WL U EH & @TAT F AT gl AR SHF AT SA I TH & |
AT | T {1 I AT BT SATA B, AT &5 &l G a8 & A | fhaar |

qHT TI?
)6 h 12 min

) 3 days 8 h
(3) 9 h 48 min
(4) 3 days 3 h 36 min
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In triangle ABC «B = 2C = 40° side BA produced upto point D
such that AB = AD then find angle BCD.

BYTABCHB 2B =2C =40 faTBA A fig D aw TgATSTAT®
It AB = AD aY =T BCD FTd X

a) Right angle/aw=or

(b) Acute angle/~g=h1or

(c) Obtuse
angle/tf&raor
(d) Reflex
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The profit earned by selling an article for rupees 405 is
14 (2/7)% more than the loss when the same article is
sold for rupees 165 find the cost price of an article.

TH IR 405 TA H AT G g arar AT 14 (2/ 7)% &
AfeF A A T ST ae FT 165 TGIH

e T AR TeF AT iU
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A man sold his TV in Rs. 7000 he offers 8% discount then
he earn 19.6% profit , If he does not offer any discount then
find new profit%

T AQHT 7 (AT At 7000 T | 9= AT 98 8% T Y& W7 |
FHLAT § TG 98 19.6% ATH (a0 FLAT &, T(X 8 HIs G TS
TRl HLAT g ar 7T ATH% AT |

) 20%
~ (b) 30%
(c) 25%
(d) 36%
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1000 QUESTION SERIES

X = 513 + 5-18 find/ stTa Fiforw
Bx3 —15x =17

"_"“‘mj SSC CPO/CHSL/CGL TIER Il 2023

M) 26

(b) 25
(c) 24
(d)O0
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1000 QUESTION SERIES

5 sine + 12 cos 6 = 13 find / sITa Fiforw
tane =7

(c) 1/13
(d) 5/13
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( If a sum of money compounded annually
becomes 1.44 times of itself in 2 year, then the
9 rate of interest per annum is-

Tfe 2 99 | Tiaay Fehg (e T W7 1.44 A7 g ST
g, T I T4 SIS &l X &-

(1) 25%
(2) 22%
3) 21%
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. ’: SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

The difference between compound and simple
interest on a certain sum for 3 years at 5% per
O  annumisRs. 122. the sum is —

3 9T % forw 5% i a9 o= usw [fsa afer w gty
ST |TLTIOT SATST & S 1 T FAL € 122, qIAE AV T8

Fer =R -
(1)IRs. 1600C
(2) Rs. 15000

(3) Rs. 12000
(4) Rs. 10000
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G\ SSC CPO/CHSL/CGL TIER Il 2023
S The marked price of a piano was Rs. 15000. At the time of |

2 sale, there were successive discounts of 20%, 10% and
10% respectively on it. The sale price was.

1 s gt it rfRwa g € 15000 o). fosft & a0, ST 1
FH: 20%, 10% 3T 10% FHt TR Y2 o8 ot gor 9ml

(1) Rs. 9720

(2) Rs. 9750
(3) Rs. 9760
(4) Rs. 9780
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Ravi starts a business with Rs. 45000. After a certain period of
time he is joined by Mohan who invests Rs. 30000. At the end of
the year they divide the profit in the ratio 9 : 4. When did Mohan
join Ravi?

T 45000 T F 1T Th AFITT L& FT gl. T AT G997 & 91
98 HIg" & [ STar g 511 € 30000. FRMATE Y Fq A T AT M 9: 4
% AT # fawTiora X g1 av Mg 7 T Y a0 i fhar?

(1) After 3 months
(2fAfter 5 months}
(3) After 6 months
(4) After 4 months
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A car and a jeep were sold for Rs. 12000 each. The car was
sold at a loss of 20% while the jeep at a gain of 20%. The
entire transaction resulted in —

T FTC 3N TH ST =9 12000 T4F H =7 TS off1 | F1EFHT 20%
sl T O =T 39T, i ST Dl 20% F AT I TL A 6
TR ST -

(1) Neither loss nor gain
2
(3) Loss of Rs. 10000
(4) Gain of Rs. 500
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A man invests a part of 10000 at 5% and remaining at 6% .

The 5% investment yields annually Rs. 76.50 more than the
2 6% investment. The amount invested at 6% is

4 TF ATk 10000 FT T REAT 5% FT I F AW(Q g qTht 6% 9,

5% I fas« areT 89T 76.50 ST wTH ATt 6% W/, A 6% WX
FARTTAT AT T TTq Y

(1) Rs. 3600

(2)[Rs. 3550
(3) Rs. 3850

(4) Rs. 4000
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4\ SSC CPO/CHSL/CGL TIER 11 2023 1000 QUESTION SERIES

A man divides his property so that his son's share to his wife's and
wife's share to his daughter's are both as in the ratio 3 : 1. If the

2 daughter gets Rs. 10000 less than son, the value (in rupees) of the
whole property is —

D v st sy sy Ay R AT & At S ¥ A e s

TAT T 3T TAT 7 FREAT ST AT A AT 3: 1 % FATATT § grl Tiw 9t

FT Tl & T 10000 F, T T T G (TIA H) § -

(1)
(2) Rs. 16000
(3) Rs. 1825

(4) Rs. 17000
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If X runs are scored by A, yrunsbyBandzruns by C,thenx:y=y

2 : Z =3 : 2. If total number of runs scored by A, B and C is 342, the

runs scored by each would be respectively-

6 IRXTAGTAIMUARE, Y TBERT iR ZWCEUE, AX Y
y:z=3:2. TfT A, B 3l C g FHTT T FeT T it 9&q1 342 g, v

9@?5 ?rﬁm%rt«ramraﬂm
(1)[144, 96, 64
(2) 162, 108, 72

(3) 180, 120, 80
(4) 189, 126, 84
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If 2x-1 + 2x+1 = 320, the value of x is -
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108 + V169 =?

If%ﬁ

(3) 6

(4)
10
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